(HER)

HER BEEHERERE (R4. 4~3)

A |8 [xtHEE|IRASE [XHELEHE B BEXS |BRES RES =

4] 4 1 51,700 A 51,700|sa&m%| SENRIE JE—#)—X (48 %) 5lEEEL(JT—)

4] 4 2 4,400| A 56,100|5a%®Hx| 1EHE N EPIEVSIC:ED) lEZEEL(Ja—)

4] 20 3,000,000 2,943,900 |gxEns | BUSESE B ESHE (4~98 %)

4] 25 3 4,900| 2,939,000|s=HE| 7THEBAE BARFFE4AH)

4] 26 4 4,400| 2,934,600|5R=mx| 7TRIEBEAE [#HEFHE(4ASR)

4] 28 5 18,079] 2,916,521 |sA=®% | SEIRIE JE—RU4AH)

4] 28 6 77,350 2,839171|FAEHE srznarmes (85 4AH)

4] 28 7 2,954| 2,836,217 [sA&ME| 7/HEBAZE [[ZHEQVAIL]. MFIfl. [#:%l]. ZsLBAKAQARAR)
4] 28 8 22,638| 2,813,579|:AzME| 7THEBALE |tAuKEGEERGEE (420-427) |5 A KRR ERE #H (273-276)
5| 6 9 51,700 2,761,879|s@=m%| SHIRIE JE—#)—X(58%) 5lEEEL(JI—)

5| 6 10 4,400| 2,757479|;@=mx| 11EHE Nyav)—ZRE(GAR) FlEEREL)I)

5] 9 11 1,000 2,756,479|A=wx | 1 AEHHEE |HHESME #HEHm(OA)

5] 9 12 620| 2,755,859 |sA=m%E| 2HEKRE #HEH AGED)

516 13 2,903| 2,752,956 [sA&mME| THEBAZE [[ZHEQVAIL]. [FIfl. [#:%l. Z5LBAKGASR)
5] 24 14 4,900| 2,748,056|A=wx| 7THEBAE [BARFFE(GAHD)

5] 25 15 10,645] 2,737,411 |mzwzun | SRGE LR [P/ EL 42— TREBHE(GA1R)

5] 25 16 16,390| 2,721,021 |sA=®% | SEIRIE JIE—RGAS)

5] 26 17 4,400| 2,716,621 5=k | 7TRIEBEAE [#HEHE(5ASR)

5| 27 18 7,870] 2,708,751 |sEmE | 11EHE JE—FR#R

5] 27 19 5,016] 2,703,735|5%®| SBIEE 15— yMERE (4AR) [BIEEEL(RAaL)

5] 31 20 84,500| 2,619,235[s@&wE [arsnarnes [R5 (GAN)

6] 6 21 51,700| 2,567,535|s@=m%| SEHIRIE JE—#)—X(6AR) glEZFELWO)

6] 6 22 4,400| 2563,135|:@=m%| 11EHE Nyav)—2XE(6AH) FlEEREL)I)

6] 8 A 400,000 2,163,135 |mmEns | BISEHE B EEHERE FMEZEEDR (& x4hA)

6]13 23 2,903| 2,160,232[sA&mME| 7THNEBAZE [[ZHEQVAIL]. [FIfl. [#B%&]. Z5L8A8KGAR)
6] 24 24 4,900 2,155,332|sA=Hx| 7THEBAE [BARFFE(6AH)

6] 27 25 44,799| 2,110,533 |sA=m% | SEIRIE aE—RK (68 %H)

6] 27 26 5016] 2,105517 5%z | SBIEE A3—2yMERFE (5A%) |BIEZHEL(RMOL)

6/ 30 27 97,700| 2,007,817 |5A&®M% [osrzwaemss (85 (68 H)

6] 30 28 83,050( 1,924, 767|REME [osrznaEnes | B —HKE

6] 30 29 4,400| 1,920,367 [;A=#% [osrsnarmes (25 —BE

6] 30 30 22,000| 1,898,367 [sa&®E [srsnarmes [R5 B6AN)

7| 4 31 51,700| 1,846,667[@=m%| SEHIRIE JE—#)—X (7B %) 5lEZFEL(WO)

7] 4 32 4,400| 1,842,267 |s=EHM%| 11EHE A EPDEE S 10ZED) glE&EEL(Ya—)

715 33 194,640| 1,647,627|5=Hx| 2HEKRE WAH HHE (44%)

71’5 34 56,440 1,591,187 [;@=wx| 1AEHHEE |HHESME WA (44)

7l 6 35 4,400| 1,586,787 |sA=mx| 7TRIEZEEAE [#HFEFHE(6ASR)

7|22 36 4,900| 1,581,887 |z | 7THEBAE [BARFFETASD)

7] 25 37 19,453| 1,562,434|sA=®%| SEIRIE IE—RGTA)

7] 27 38 5016| 1,557,418|5%®%| SBIEE A3—yMERFE (6 A%) |BIEZHEL(RMOL)

7| 28 39 9,900| 1,547,518|5%=®H% [srsnaEmes (85T A%H)

7| 28 40 86,150| 1,461,368[s@=8% [osrsnarmes [R5 (7AS)

8] 1 41 2,903| 1,458,465:A&m%x| 7THMEBAZE |[[ZHEQUVAIL]. MFIfl. [#:%l. Z5LB8AKGTAR)
8l 1 42 4,400| 1,454,065:Bz/%| 7TREEAE [(HEFE(GTAES)

gl 2 43 15,100| 1,438,965[sA=wm=| 1AEMEE [MHIESNE o542 (1%)

8| 4 44 51,700| 1,387,265[s@=m2%| SEHIRIE JE—#)—X(8AR) 5lEZFELWO)

8|l 4 45 4,400| 1,382,865|s@=m%| 11EHE V=PI TCEED) glEEEL(Ya—)

8| 8 46 2,903| 1,379,962[sA&mME| 7THMEBAZ [[ZHEQVAIL]. [FIfl. [#:%l. ZsLEAKBAR)
8l 10 47 460,020 919942 |saEM%E | 6/LRE MA=—a2—X (EIRI4t 120,000#%0) [(2048)

8] 10 48 2268 917.674|5%®Hx| SBIEE FEEET4—F 27E&

8l 22 6 917,680|FI2 |FIR FIER

8| 22 49 4,900 912,780z | 7THEBAE [BAEFFE(BAH)

8| 25 50 6,090| 906,690 [mzmzun | SEIGELH [F/IhELF— TREHE(9A2AR)

8] 26 51 A 12000 918690|5a&®z| 2HERE WA™ HHEREEE (14)

8] 26 52 5016 913,674|5a%®Hx| SBIEE 13— yMERF (7AH)

8] 26 53 6,000 907674[:E=#x| TREEAEZ (BEI1IHE 20224E4 B ~202343 8

8] 29 54 4,400 903274|s=Emx| 7TRIEZEEAE [#HFEFHE(8ASR)

8] 29 55 3,300 899,974[AEME [osrsmarmes [R5 U~7ARR—RTvITH)

8] 29 56 38,250 861,724|:AEWE |0sikswERAEE |85 U~TARR—RT7vTH)

8] 29 57 92,600 769, 124|saEw% |osrzwarnes K5 BAY)

8] 30 58 32,505| 736,619[@=mE| SHIFIE JE—HR@EA)

9] 5 59 51,700| 684,919[s@=mx| SHIFIE JE—#)—X(9A %) 5lEEEL(I—)

9] 5 60 4,400| 680519|m=EHME| 11EHE AV EPD R ICIEED) glE&EEL(Ya—)

9] 8 61 17,350] 663,169z UEHEE JE—F#R

9]12 62 2,903| 660,266[:A&ME| THNEBAZE [[ZHEQVAIL]. MFIfl. [#:%l. ZsLBAK0QAR)
9] 22 63 4,900 655366|A=HmE| 7THEBAE [BAEFFE(OAHD)

9] 26 64 5016] 650,350|5%®%| SBIEE A A—3xyMERF (8AH)

9] 27 65 4,400 645950|s=mx| 7TRIZEEAE [#HEFHE(9AS)

9] 27 66 105,200 540,750[sA=#% [osrznaERes |5 QA R)

9] 29 67 32,904| 507.846[:E=mE| SHIFIE aE—K(QAH)

10] 26 75 5016] 502,830|5%®Hx| SBIEE A —xyMERF (OB H)

10| 4 68 51,700| 451,130[z@=®%| SEHIRIE JE—#)—X(10A %) lEZELEL(JO—)

10] 4 69 4,400 446,730[m=EHR| 11EHE Aya ) —XE 0B H) glEEEL(Ya—)

10] 13 70 3,893 442837[m=E#xE| TREEAEZ [[xtouvsE). el (el (85X B EB84K0085)
10/ 20 2,400,000 2,842,837 [mxEns | BISEHE Bi5EEE (10~38 %)

10] 24 71 4,900 2,837,937|:R=mr| 7THEBAE [BAEFFEG0ASD)

10] 24 72 60,000| 2,777,937 [sE=wx| 1AEMHEE |HHESME KBrH(148)




(HER)

A |8 [xHEE|IRASE [XHELEHE B BERS |BREH RES E=

10] 24 73 880| 2,777,057 |sAE®x | 2HERE PN G ED)

10] 25 74 32,733| 2,744,324|saE®m% | SENRIE JE—RU0AS)

10] 26 76 4,400| 2,739.924;Az®H%E | TREEAE [#HEHEG0ASR)

10] 31 77 105,800| 2,634,124 (A= o2 rznaemes (85 (10AH)

10] 31 78 24,000] 2,610,124|saEHE [osrzwaEmnes |85 (108 5)

11] 4 79 51,700| 2,558,424|:@=m%| SHIFIE JE—#)—X(11A%) lEZELEL(Ja—)

1] 4 80 4,400| 2554,024|sBEH%E| 11EHE NV )—ZRE W18 H) glE&EEL(Ya—)

1] 7 31 40,262| 2513,762[sA=m%| 1AEMEE [(HIESNE o542 (1%)
1110 82 348,920 2,164,842|5aEM% | 6/LRE H=2—X (ENRI4E 50,000%0) |(F=1—X205%)

11] 15 83 9,000| 2,155842|saEm%| 1AEMIEE [HMHESME o542 (1%)
11]22 84 4,900 2,150,942 |z | 7THEBAE (BAEFFEGU1AH)

11] 24 85 2,903| 2,148,039[sAEmME| THEBAZ |[[ZHEQUVAIL]. [FIfl. %l L8804 M1AD)
11] 24 36 36,806| 2,111,233|sa&mz| SENRIE JE—RKRU1AR)

11] 24 87 37,544| 2,073,689 |saEwME| 7THEBALE |thABKEGEERGEE (428-440) |5 AR R EFE 8 (277-281)
11] 27 88 5016| 2,068,673|5%Hx| SBIEE Ao —3xyMERF (108 5) [BIEEREL(RMOL)
11] 28 89 17,075 2,051,598 (A== | 1AEMEE [MIESNE o542 (%)

11/ 30 90 4,400| 2,047,198;A=M%E | TREEAE [#HEHEGI1ASR)

11] 30 91 89,000( 1,958,198|s&EM: [osrzwaEmes |5 (11ASR)

12] 5 92 51,700 1,906,498 |sA&wz| SENRIE aE—#)—X (128 %) FlEEEL(I—)

12] 5 93 4,400| 1,902,098|s@=m%| 11EHE Nyav)—ZXE 128 5) lE&EEL(Ya—)

12] 5 94 1,000| 1,901,098|z:A=#E| 1AEHEE |[HESME #MEm(4)

12] 5 95 800| 1,900,298 |sAE®rx | 2HIERE #HE™ G ED)

12] 8 96 19,733| 1,880,565 A= [10arsnarmes (R —BE

12] 8 97 200,900( 1,679,665|AEMHE [osrznarnes |XFE—HE

12]12 98 5,130| 1,674,535 [mzmzun | SEIGE LN [R/IhELF— MRS (12810R)
12[13 99 1,000 1,673535[;R=#E| 1 AEHEE |(HESME #HEH(4A)

12]13 100 560| 1,672,975s=Hx| 2HERE #HEH G ED)

12|14 101 2,903| 1,670,072z | 7THMEBAZE [[ZHEQVAIL]. [FIfl. %l L8802 %9)
12|14 102 60,000 1,610072[E=wx| 1AEHHEE |HHESME HRA(144)

12]19 103 7,070| 1,603,002 AEm%| 7TREBAE [FRALASA 202244 B ~20234% 3 H
12] 21 104 4,400| 1,598,602[:A=m%E| TREEAE [#HEHEG2A%9)

12] 23 105 24,649| 1,573,953|sa&m| SENRIE JE—RKRU28%H)

12|23 106 4,900| 1,569,053 |A=wE| 7THEBAE [BAEFFE(G285)

12] 27 107 93,200( 1,475,853|sEM®: [osrzwaEmnes |85 (12A59)

12] 27 108 5016| 1,470837|5%®x| SBIEE A —xyMERF (1B S) [BIEEREL(RMOL)
1] 4 109 51,700| 1,419,137[s@=®%| SHIFIE JE—#)—X(1A%) FlEEREL)I)

1] 4 110 4,400| 1.414737|@=m%| 11EHE Ny )—ZRE 0B H) lEEEL(Ya—)
1[12 111 3500| 1,411,237|s=mx| 7TRIEBEAE [flIEDOHLFEL

1[16 112 2,903| 1,408,334[sAzmzE| 7THMEBAZ [[ZHEQVAIL]. [FIfl. [#:%5l. EsLE8AK0AD)
120 113 3,080 1405254[;R=m%| 7TREEAE [(BITBANE

120 114 1,100] 1,404,154|saEmx| 7TRIEBAE |[EREHAE

123 115 4,900 1,399,254 |R=wx| 7THEBAE [BAEXFEGAS)

1] 23 116 45,180| 1,354,074|sa=#%| 2HEKRE FRERX BHE(Q &)

1] 25 117 19,560| 1,334,514|5%®%| SENRIE aE—RKRUAHD)

127 118 5016] 1,329498|5a%®x| SBIEE A —xyMERF (128 5) [BIEEEL(RMOL)
1] 30 119 22,200| 1,307,298[sA=®E [osrswarmes (A5 (U ASH)

1] 31 120 83,000| 1,224 208[sA=wE [srswarmes (A5 (U ASH)

2] 1 121 4,400| 1,219,898|sA=M%x| 7TRIZEEAE [#HEFBUARD)

2] 6 122 51,700| 1,168,198[s@=m=%| SEHIRIE JE—#)—X(28%) FlEEREL)I)

2] 6 123 4,400| 1,163,798|s@=m%| 11EHE NV )—ZRE2H ) glEEEL(Ya—)
2]13 124 291,720 872,078|sAE®% | 6/L3RE Hl=2—X (ENR&I4£15,000#0) |(2068)

2] 20 6 872,084|FIE |FIR FIE

2|27 125 4,900 867,184|:=wx| 7THEBAE (BAEXFECAS)

2|27 126 4,400 862,784|sEMR| 7TRIZEEAE |[#HFFECQARD)

2|27 127 3,089 859,695[:AEME| THEBAZ |[[ZHQUVAIL]. MFIfl. [#:%l. ZsLE8A%KCAD)
2|27 128 5,130| 854,565 [mzmzun | SEIGMELH [R/IhELF— MRS (12818R)
2|27 129 88,400| 766,165[sA=®E [osrsnarmes (5 (28 %H)

2] 27 130 23,032 743,133|saEwMz| SENRIE JIE—RQCASR)

2|27 131 8,102| 735031[Az®M%E| 7TREEAE [(MAMKEGREREH

2|27 132 16,775| 718,256 [saz®z| 7TRIZEAE |BEETEREER 2025 E HEE~XZE
2|27 133 5016] 713240|5%®%| SBIEE A3—2yMERE A S) |BIEZEEL(RMOL)
3] 6 134 51,700| 661,540[z@=m%| SEHIFIE JE—#)—X(BA%) FlEEREL)I)

3] 6 135 4400 657140|sEHME| 1EHE Nyav)y—REGHESR) glEEEL(Ya—)
3]13 136 2,903| 654,237[AzME| TNEBAZE [[ZHEQVAIL]. MEIfl. [#:%l. ZsLE8A%KGCAD)
313 137 25,670 628,567|:RzmME| 7THEBAE |thAHKERERERGEE (441-452)

3] 15 138 44100| 584,467 |:=EH% |oarsnaEmes [HXFY

3] 20 139 3,700 580,767|:EH% [osrsuaEmes [HXFY

3|23 140 4,900 575867|HREHME| THEBAE HABRFHFEGAS)

3|24 141 44,056 531,811[:@=#%| SHRIE JE—KGAR)

3|27 142 5016] 526,795|5%®%| SBIEE A3—2yMERFE (2B ) |BIEZEEL(RMOL)
3/ 30 143 4,400 522,395|sEMR| 7TRIZEEAE [#HFEFBEGARD)

3/ 30 144 87,800| 434595[s=EHE [srswarmes (5 BASH)

3/ 30 145 28,200  406,395[sA=E®HE [srswarmes (5 (BASH)

4] 3 146 343,420 62,975[A=M%E | 6ILIE H=a21—X (FIRI+£50,000%) |(2075)

4] 27 147 5,016 57,959 |sA=m%| SHEIEE A3—2yMERFE BAR) |BIEZEEL(RMOL)

5,000,012 4,942,053
5,000,000 % {48
98.84% 4T




